Question_Paper for selection to the post of Junior Engineer in Level-6 against 25%

Promotional quota in Electrical department to be held on 27.11.2024 at WTI/UBLS.

Duration: 02 Hours Total Marks: 100

Instructions: There are total 110 questions out of which 101 to 110 are optional.

1) There is no negative marks.

2) Answering questions will be only in the answer sheets supplied.

3) Prohibition on indication of the name or any other identity of the candidate either
in the question paper or in the answer paper except in the columns provided on
the 1% page of the answer sheet. If found any, booklet will not be considered for
evaluation. Not to use of mobile, calculator, logarithmic table etc.

4) Non acceptance of cutting, over-writing, erasing or alteration of any type in the
answer. Zero marks will be given for answer having corrections / overwriting.

5) Question paper is given in three languages (Hindi English Kannada). In case of
ambiguity between different languages, the English version will be treated as
correct.

6) Total questions attempted should be 100. If any candidate has answered in excess

- then marks will be allotted to first 100 question answered only. No of Question
answered and not answered should be indicated clearly on topsheet.

Objective type questions (Carries 1 mark each)

1. In three phase 415 volts 50 Hz supply, the phase to phase voltage is

(a) 220 Volts (b) 415 Volts (c) 440 Volts (d) 240 Volts
2. Which of the following is not used as a overhead conductor

(a) ACSR

(b) Weasel

(c) PILCA

(d) Zebra

3. Which of the following reduces the power factor
(a) Motor on no load
(b) Tube lights
(c) Fans
(d) All of the above

4. A.C. is converted into D.C. by
(a) Dynamo (b) Motor (c) Transformer (d) Rectifier
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An electric lamp is marked 100 watt. It is working on 200 Volts. The current
through the lamp is given as
(a) 0.5 Amp. (b) 0.2 Amp. (c) 5.0 Amp. (d) 1.0 Amp

When capacitances are connected in series, the equivalent capacitance
(a) Decreases (b) Increases (c) No change (d) May increase or decrease

A 2 x 40 W box type fitting glows for 10 hrs in a day, units consumed per day will be
(a) 0.72 (b) 0.04 (c)0.8 (d)1

One 20 inch desert cooler (150 W) works for 8 hrs per day, electric charges gor the
month of July @ Rs. 3/- per unit will be
(a) 111.6 (b) 110.2 (c) 90 (d) 115.3

The resistance of human body lies between
(a) 100-200 ohm (b) 5 K ohm-50 K ohm (c) 1 M ohm-10 M ohm (d) 100 k ohm-500 K ohm

The type of oil, which is suitable as transformer oil is
(a) Crude oil (b) Organic oil (c) Mineral oil (d) Animal oil.

A step up transformer increases
(a) Power (b) Current _ (c) Voltage (d) Frequency

For indoor installation the minimum cleara nce between the highest point of the
conservator tank to the ceiling of the transformer room should be
(a)0.25m (b) 0.5 m (c)0.75m (d)1m

No-load test on a transformer is ca rried out to determine

(a) copper loss (b) magnetizing current (c) magnetizing current and loss
(d) efficiency of the transformer

Which of the following loss in a transformer is zero even at full load?

(a) Core loss (b) friction loss (c) eddy current loss
(d) hysteresis loss.

If a transformer is continuously operated the maximum temperature rise will occur in
(a) Core (b) windings (c) Tank (d) any of the above

Gl or Steel strip electrodes used for earthing should not be [ess than
(a) 25 mm x 4mm (b) 20mm x 3 mm (c) 25mm x 3mm (d) 20mm x 4mm

Earthing arrangement for residential buildings should be inspected at an interval of
(a) 3 months (b) 6 months (c) 9 months (d) 12 months
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The plate electrode of Gl or steel used for earthing should be with minimum size of
(a) 50cm x 50cm x 3.15mm (b) S0cm x 50cm x 6.3mm (c) 60cm x 60cm x 3.15mm
(d) 60cm x 60cm x 6.3mm

The code of practice for earthing is governed by
(a) 1S: 3043

(b) 1S: 4340

(c)1S: 4340

(d) 1S: 4430

As per IS, the earthing electrode shall not be within a distanceof __ mtrs
from any building being earthed

(3) 0.5 m

(b)1m

(c)15m

(d)2m

Which of the following is present inside the fluorescent tube?
(a) argon and neon (b) argon and CO2 (c) mercury vapour (d) helium and oxygen

Power factor =
(a) True Power/Apparent power (b) Apparent power/True power
(c) Average power/True power (d) Apparent power/Average power

Amperes drawn by three phase motor are equal to
(a) Efficiency x Volts x pf / (HP x 746) (b) Efficiency x pf/(volt x HP x 746)
(c) HP x 746/(Efficiency x volts x pf x 1.73) (d) HP x 746 x volts/(Efficiency x pf)

One Kwh =
(a) 1000 calories  (b) 860 calories (c) 740 calories (d) 970 calories

The current rating of PVC insulated and PVC sheathed four core , armoured
aluminium cable of size 120 sq mm (laid direct in ground) is approximately
(2a) 80 amps (b) 185 amps (c) 290 amps (d) 320 amps

An induction motor with 1000 r.p.m. speed will have
(a) 8 poles (b)6poles (c)4poles (d)2 poles

The advantage of a slip-ring induction motor over a squirrel cage induction motor
is that

(a) it has higher efficiency (b) it has higher power factor

(c) it can be started with help of rotor  (d) non of the above resistance starter

If there is an open circuit in the rotor of a squirrel cage induction motor
(a) rotor will overheat (b) line fuses will blow
(c) motor will be noisy (d) motor will not start
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Two of the power supply terminals to a 3-phase induction motor get inter-changed
during reconnection after maintenance of the motor. When put back into service,
the motor will

(a) get heated up and damaged

(b) rotate in the same direction as it was prior to maintenance

(c) fail to rotate
(d) rotate in the reverse direction to that prior to maintenance

The probable reason for an induction motor running too hot could be
(a) low voltage (b) uneven air gap
(c) clogged ventilating ducts (d) any of the above

Capacity of pump set is selected on the ground of
(a) Yield, Static-water-level, Working-water-level. (b) Location of bore
(c) Type of starter provided (d) Quantity of water to be used.

If the speed of a centrifugal pump is doubled, its power consumption increases by-

times.
(a) two (b) four (c) eight (d) no change

The material for armouring on cable is usually
(a) steel tape (b) galvanized steel wire (c) any of the above (d) none of the above

In the cables, sheaths are used to |
(a) prevent the moisture from entering the cable (b) provide enough strength

(c) provide proper insulation (d) none of the above

Underground cables are laid at sufficient depth

(a) to minimize temperature stresses

(b) to avoid being unearthed easily due to removal of soil

(c) to minimize the effect of shocks and vibrations due to passing vehicles, etc
(d) for all of the above reasons

The advantage of cable over overhead transmission lines is

(a) easy maintenance (b) low cost
(c) can be used in congested areas (d) can be used in high voltage circuits

As per the latest SMI the voltage setting of alternator 4.5KW 110V for
mail/express trains with VRLA batteries is
(a) 123+/-0.5v DC (b) 128.5+/-0.5V DC (c) 121+/-0.5V DC (d) None

The purpose of TL Alternator used in Railways.
(a) Charging the coach battery on train run
(b) Working of lights and fans in the coach during train run
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(c) Sharing the load to other coaches in case of emergency
(d) All the three above

The distance to be maintained while fixing axle pulley on wheel, from wheel hub to

axle pulley outer wedge for 25 KW alternator is
(a) 225 mm (b) 240 mm (c) 145 mm (d) None

To prevent breakage of shaft during service the following test should be Done as

per RDSO SMI
a) Non destruction dye-penetrate test  b) Shock pulse meter test

c¢) Ultrasonic test d) None

Rating of AC fuses to be provided in 25kw MA type RR unit
a) 125A HRC b) 160A HRC c) Eitheraorb d) None

The mating of pulley with shaft of TL/AC alternator shall be
a) 80% b) 70% c) 60% d) 50%

The battery charging current limit with 25kw ERRU when both alternators are

paralleled is to be set at

a) 110A +/-5A b)220A +/-5A c)220A +/-10A d) none

OVP provided with ERRU shall latch before output voltage reaches to

a) 145V b) 150V €)135V+/-2V d) none
SMPS stands for

a) switch mode power supply b) single mode power supply

c) sweep mode power supply d) none

IGBT stands for

a) Insulated gate bipolar transistor b) isolated gate bipolar transistor
c) Both A&B d) none

When insulation resistance test is carried out on railway carriage fan it’s insulation

resistance should not be less than
a) 20mega ohms  b) 10mega ohms  c) 2mega ohms d) none

The wattage of 110V DC 400mm sweep RC fan is
a) 32w b) 25w c) 19w d) none.

The wattage of 110V DC 300mm RC fan is
a) 32w b) 25w c) 19W d) none

The instrument used to measure the current without disturbing the circuit is
a) tong tester b) tacho meter c) photo meter d) none
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Voltmeter is to be connected to the circuit in
a) parallel b) series c) series and parallel d) none

Ammeter is to be connected to the circuit in
a) parallel b) series c) series and parallel d) none

While measuring the earth lea kages by double test lamp, lamps should have
a) same wattage  b) different wattage c) any wattage d) none

Capacity of limit switch provided for alarm chain pulling indication light circuit
a) 10A b) 15A c) 35A d) 40A

The purpose of liquid receiver is

a) It carries the low pressure vapor from the evaporator to the suction inlet of the
compressor

b) It conveys the high pressure and high temperature refrigerant from the
compressor to the condenser

c) It carries the liquid refrigerant from the liquid receiver and conves it to the
expansion valve

d) It acts as a reservoir which stores the liquid refrigerant coming from the
condenser and supplies it to the cooling coil according to its requirement

- The relative humidity for the human comfort zone is

a) 40 - 60% b) 80 - 100% c) 20 - 40% d) None

The purpose of dehydrator and filter used in vapor compression system is
a) It removes moisture available in refrigerant system

b) It prevents particles and scales in refrigerant system

c) Both (a) and (b)

d) None

The purpose of high pressure cut out used in vapor compressor system is
a) It stops the compressor if the pressure exceeds the pre set value

b) It protects the compressor and piping from damage

c) Both (a) and (b)

d) None

The purpose of condenser used in vapor compressor system is

a) It cools the high pressure hot gas received from the compressor.
b) It converts high pressure gas into liquid

c) Both (a) and (b)

d) None
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The moisture in the AC system can be eliminate by

a) Blowing dry air/nitrogen through the system

b) Pulling vacuum through the system

¢) Heating the system to high temperature, while pulling vacuum, simultaneously
d) All of the above.

Hydrometer used in TL system is
a) Syringe type hydro meter b) Suction hydrometer
c)Bothaandb d) None of the above

If water consumption in particular cell is more due to
a) Hermitically sealed joint leak b) Higher charging current

c) Leakage of electrolyte due to cracks in container  d) All of the above

Initial charging rate of lead acid battery is

a) 0.1XC10 capacity b) 0.2XC10 Capacity
¢) 0.05XC10 Capacity d) 0.033XC10 capacity
TL110 V TL coaches are provided with following batteries

a) Mono block batteries b) Individual cells
c)Botha &b d) None

Out put PWM voltage of inverter section of 25 KVA inverter of RMPU AC coach is

a) 650VDC b) 220VDC c) 24V DC d) 3 phase 415 V AC
Chemical name of R22 is

a) Mono chloro Difluoro methane CHCIF2 b) Dichloro diflouro methane CCI2F
c) Dichloro monoflour methane CHCI2F d) None.

Quantity of refrigerant to be Charged for one AC circuit of RMPU is about
a) About 3 Kgs b) About 20Kgs c) About 30KGS d) None

The type of compressor used in RMPU unit is
a) Heretically sealed b) opened  c) Semi opened d) None

Potential leakage of RMPU unit is
a) Low b) Large c) Enormous d) None

Type of power supply to compressors and condenser and evaporator units of
RMPU coach is

a) DC b) AC c) Pulsating DC d) None

The capacity of power selector rotary switch RSW1 provided in power panel of
RMPU AC coach is

a) 500A b) 160A c) 16A d) None
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HFC refrigerant recommended for RMPU coaches in place of R22 is
a)R 134a b) R 407C c) R 290 d) None

How many sensors are available in LHB AC coach for sensing the temperature
parameters
a)3 b) 4 c)S d.6

Humidity control is facility is available in which type coach (c)
a) Under slung type AC  b) SG type RMPU  c) LHB type RMPU d) None of the above

Why LHB RMPU motor are in built with OTP

a) To sense and protect against over temperature
b) To sense and protect against lower temperature
c) To sense and protect against lower temperature
d) To sense and protect against low IR value

What are the under gear safety items to be checked in LHB AC coach
a) Junction boxes b) 60 KVA transformer
c) WRA pumps d) Battery box e) all of the above

What is abbreviation of LHB
a) Like Half man bush  b) Link Half man Bosh c) Link Half man bush d) None

LHB Technology was imported from which
a) Japan b) USA c) Italy d) Germany

What is the abbreviation form of PATB
a) Passenger and Terminal bracket b) Passenger alarm Terminal Board
c) Passenger aluminum terminal Board d) Permanent alarm terminal Board

What is abbreviation form of EIG
a) Electrical Institute of Government b) Electrical Inspection Governor
c) Electrical Inspector to the Government of India d) Electronic institute of Gov.

What is abbreviation of SAF

a) Supply Application Form b) Stores Application Form
c) Supply Advanced Form d) Stocking Application Form

What is the battery voltage and ca pacity of engine staring batteries in EOG power car?
a) 8V 290 AH b) 24V 290 AH ) 24V 450 AH d) 8V 450 AH

No. of engines available in a EOG power car is ?
a1 b) 2 c)4 d)3
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Buffer stock is provided —
a) To meet unforeseen requirement b) To supply items to other users
c) To make good shortfall due to theft, deterioration d) To have items out of stock

In a VED analysis "V" stands for —
a) Vague items b) Very costly items c) Vital item d) Variety of items

Indication of value in the demand is necessary
a) for posting in liability register / fund register

b) for knowing the appropriate approving authority
c) for the payment to the supplier

d) combination of (a) & (b)

Item not required for the purpose for which it was originally purchased is known as —
a) Inactive item b) Scrap item c) Over stock item  d) Emergent stock item

An item having regular turnover caused by constant demand will be known as —
a) Ordinary Stock Item b) Emergency stock item c) Regular item d) Non- stock item

Inactive items are those stock items, stock of which
a) is unserviceable

b) more than 3 months old

c) has not been issued to any user for past 12 months
d) is more than the requirement of next 24 months

Which of the following is NOT a preventive measure for fire accidents in trains?
a) Use of fire-retardant materials in coaches

b) Installation of smoke detectors

c) Allowing passengers to carry flammable materials

d) Regular maintenance of electrical equipment

What is the role of Automatic Fire Detection and Alarm Systems (AFDAS) in trains?
a) Increase passenger capacity
b) Detect and alert about fire incidents early

c) Speed up train operations
d) Reduce noise levels in compartments

Which of the following measures can help reduce fire incidents due to cooking in trains?
a) Allowing LPG cylinders in AC coaches only

b) Prohibiting the use of open flames in trains

c) Providing separate cooking compartments

d) Encouraging passengers to carry personal stoves



93.  What s the primary difference between AC and DC motors?
a) AC motors use alternating current, while DC motors use direct current
b) DC motors are more efficient than AC motors o
¢) AC motors are used in small applications, while DC motors are used in large applications

d) DC motors cannot operate at variable speeds

94.  What is the function of a commutator in a DC motor?
a) To generate magnetic flux
b) To convert AC to DC
c) To reverse the direction of current in the armature
d) To reduce the motor’s speed

95.  What is the purpose of the exciter in a generator?
a) To start the generator mechanically
b) To provide the necessary magnetic field
¢) To control the generator’s speed
d) To cool the generator components

96.  Which device in switchgear is used for overcurrent protection?
a) Transformer
b) Circuit breaker
c) Capacitor
d) Motor starter

97. What s an isolator in a switchgear system?
a) A device that prevents overloads
b) A switch used to disconnect a circuit under no-load conditions
c) A device that steps down voltage levels
d) A safety device for thermal overload protection

98.  Which of the following is a disadvantage of a low power factor?
a) Increased efficiency of the system
b) Increased energy losses
¢) Reduced electrical load
d) Enhanced voltage regulation

99.  What is the ideal power factor for an electrical system?
a)0.5
b) 0.8
c) 0.95
d) 1.0

100. Which equipment is typically used to correct power factor in industries?

a) Synchronous condenser
b) Step-up transformer
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c) Circuit breaker
d) Rheostat
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(a) 110A +/-5A (b) 220A +/-5A (c) 220A +/-10A (d) O3RHTZe ¥e),

44)ERRU 22031 2.B3NFe0t3 OVP BT a3pce3 0o ARy 3N B RTIEN
T e3ne3em?

(a) 145V (b) 150V (c) 135V+/-2V (d) o Be ey,
45) SMPS o 0TTE?

(a) AT BRCTF BI[O°* R, (b) Aone> Fete IRo* &I,

(¢) ALD* BtTE BI0° B, , (d) O3RJYTR ).

46) IGBT OT3TE?
() AR SET 1ieés® o3, peewos b39),3,0°
(b) 0RRL3CEITe 116és* 23,700 59y K, 0
(c) A DI, B D0RBR
(d) o3P TR |e),

47) 8,00 FozDadees SoBabe), IBAFS &3cweer TOCE, ISBAoeN 930
V0SS &3,80005 OR,3,03 TR YB20?
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(a) 20 SHrdbat* () 10 shmeb.aty (c) 2shrabalr  (d) alnadse Bey

48) 11OV DC 400mm Atar RC Sosdad 30,4 XRabgl,F oaly,?
(a) 32W (b) 25W (c) 19W (d) adngyse wey,

49) 110V DC 300mm RC &omdad 839;£3* ZOahGF ), ?
(a) 32w (b) 25W () 1I9W (d) adRaHEe e,

S)TBRFET o, LBIBXS Fxdd, ovobey YT FEN
oy ?
(a) &590m €370 (b) 30,80¢ DEE30% () Fpédat oo (d) cdeaytie BeY,

31) 33etegedatdd* eary, RBe,rést ert o de XL eR?
(2) WP TOIT (b)) KOED (o) ROED a0 B, RRPT0IT (d) odRPTR 9L,

52) ©ed0L830° 9, RBeE6 T Bert oS Re3ew?
(2) XNeI0TD0IT (b) KOEB (c) KO3 ), HaPTWOIT (d) OIPEHT B,

53) B &7 ;0T HROT IF ARDTODHR, 9F¥odween, BeINOR
NTLICH?

(2) 200T3¢ 5305¢3° ARENG;E (b) PR, T0E3° TG 5E
(c) ODOIT 2505¢3° ARNFsE (d) oBeITR Be,
54) e ROBP DYAND R0 BHET RBOFET wBNTenD oS
ALTS TOTNGFE DR, ?
(a) 10A (b) 15A (c) 35A (d) 40A

55) Tje3 DACBTS T L3332

(a) BTH TOD wIBB SINIR, SIOMIBAOT FoBROS Jgar
AN HNRI T

(b) BT FOBWBRO*VOW FOBT,0N Beg,S 03B D), BedT TR
Sy200E3* 9, NI

(©) B T3 DACIT OB a3 BeyesB0oés* ek, NI DI, T,
JR,0590 Fo30édT, VOB I

(d) BW) FORBS, 00T 0% Tye3 ByesB0é3* eady, Bomomyas D3I, 9TT
©3FFTIOD FTO IJozeNAE TONOR  RoTHED DI A
ZRI0NEION FTOODE oA

56) 23303z APFODE BOODT, AECF 33 ARY,? .
() 40 - 60% (b) 80 - 100% - (€) 20 - 40% (d) O350y TBe Be).

57)€3:d08 ROBRCIN 35 R.0NS). TR BLB,BE30° DI), dO O
T L3e30?
(2) BT TRy2sB0ES* 53;33R,006). ©2356)00a3 30T, Irichasen I
(b) BT Tady2s00&3 53;a3%,030¢). Fearieh D3I, Fadweasdsh, SBaI s
(¢) (a) D3I, (b) DTBR
(d) aRPTe Be),
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Wodah Kodetess aatabd) wvhe LA 4y BArs
BOELr Baseasy?
(8) L AGQ JosIr g3 OF s1fPer,a3x8), DHDLS B FoRKo* ey, ) 5>a 08
(M) BED o Nor &b 8y, 8, Hore eaxty, B I0C A4 AL
(€) (a) &1 A (b) OB
(d) QB Ie wey.

39) sodadh Hodetey &, 83%,006), YRS Fod™ 0 oudd fPaieaty?
(2) WD FOBHT* V0T ALTOAS B3, 2.3BG DA esdeasahy, Ira ohxdLs.
(b) B Bed, W 0. 3BE 99053, Basazon TOSIF I
(€) (a) &3y, (b) DOBR
(d) oI gey.

60) AC &3,3X,00 ) 3tav0dm3=h, Bert InchmesEHch?
(a) 3,33X,00 SDeoT B, MP/S £dtaa 2R sheed
(b) 3,338, 0b sheeF JeorITTh, a¥aines shees
() 83,338, ,0D, B28,3 FFIRNT, A RIS DROT, DTFTORE),

VEIRF 3T, ¥OINE e
(d) EOS dexy.
61) TL AR GIFRE), ¥R 3,B.00e)d830¢ OR)TN?
(a) ADOL TTVTS &3 ,TLIEIT* (b) RFR® B 4T3.9,CedCE3T*
(c) a3y, b DTRER (d) DT 3T esey,

62) DDF R, REFTE). DO 2097 023,30 9838, ToTee OdosyH?
(a) BEOEEITO Aces 2N BPDT

(b) W23, S 2FWEOMT o
(c) TOEXTTRAS B3RP RSTR,,0e3,63° R PDF
(d) @IS derg,
63) 6T e3a3), 239563005 e300)T 2FBEONT 30 o3 ?
(a) 0.1XC10 a3 (b) 0.2XC10 AR P,e
(€) 0.05XC10 MDTse (d) 0.033XC10 maHTsse
64) TL 110 V TL B¢ NPn &8 39N 230:E30NY, wBNReDNS:
(a) BRCIRE 230, F° 2305630Me (b) B,0D8F Ferne)
(©) aaD3), b XTBER (d) ORI ER Be).

65)RMPU AC 80625°S 25 KVA 9= 635 0% BRLET g Bésayés PwM
BRCS3 L2 ), ?

(a) 650VDC (b) 220VDC (€)24VDC (d)3 Fex* 415V AC

66) R22 DOARON T BRTBeI)?

(a) BRtZ30t FR 3o RFRLBP AGE® CHCIF?
(b) B,BRLCL BFRETH GE* CCI2F2
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ST —

() A 8arde sl etd atidarde QG CHC 128
(d) QIREYIe wey

67)RMPU 2.0ty AC NUAFATY weerr sinciiltwars Odyeaods el
RO ady,?

(0) KOst 3 #8 (b) st 20 B2 (¢) XO&IR0) 30 #28 (d) cirRaycin me),
68) RMPU o dés*&3¢). 2av/zyas FOFRO'S B0 aleaycsy?

() BabrF &35S Acexr (b) I3 (c) 28-33 (d) adRHce aey,
69) RMPU o dés* =3 RNOZIe3; BRDT BeNS?
(a) QD (b) BRE ) (c) &390 (d) G3RITR Be).

70)RMPU B0025*S S0R&0reh sy, TOBN,0* sH3), aS3TRTeEIo* éiFren
;3 BB FyFo0 03weyH?

(a) DC (b) AC ©) BSL&3or* DC  (d) BT |,

71)RMPU AC 3RS Ra3o* TR, wBNRT FI3o* AS3T,0* Becéd
AT RSW1 S Moadi3se Odsoady?

(a) 500A (b) 160A (c) 16A (d) 3T Be),
72)R22 22831 RMPU 80625191 5003y BRBEDTS HFC By 2s0063¢ O3ReHT3?
(@) R 134a (b) R 407C (c)R 290 (d) OB gey,
73) 3058230 DONIVOBRTRY, oSBT eN LHB AC ZeteFSE), ox),
ROTTBENh 235037
(@3 (b) 4 (©)5 de6
74) STHES OD0IZje0 AP35 Odrees BEIad BRI, 023509537
(a) ®0TBU* X o1 &3,5° AC (b) SG &, RMPU
(c) LHB €3 &° RMPU (d) EOT dezIEe eve).

75) LHB RMPU 23¢830°ne) OTP 20318 £HB DeERO 3,532
(a) B, FTWEIOST ITITI, FOSICDTEN DI, B Few
(b) TR FOTWIOIT ITIT, FOTIEDFEN a3, B Zex
(c) T TIPS BT, ROSCRRE) DI, B Zen
() FRED IR e35°0;73 T3, BOSBDR) 3y, o8 men

76)LHB AC 3p(5*36), R0AIR2E ©20@80° Moo ATFIo séloneh
odeeded)?
(a) ZOFD* eTENE) (b) 60 KVA 59, gp0aeo®
(c) WRA Soanieh) (d) 2395430 2505, (€) SIS devg,

77) LHB 220200830 F0F (e3eaa3exy?
(2) SyT° BOD* e50;0° 20T (b) DoT* T e0;~° 23,06
(€) DOT* Tog® 30" 20T* (d) R 96y,
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78) LHB 30328 A3adrt), il t3B00 esahirdy st dovpented)
(8) 2D (h) USA (c) mbie) (d) it S

79) PATB ed020630 Moo fasoadtady?
(a) @9, NOL0* L2008 A)adoF Ier 30, Whs
(b) 09, OO e2eDElr'F Alador JSer tdpteas
(¢) B ROL0* €9018,60) OO leDoF [Ser L3 pterr
(d) WEDLF I enadrr odor e wdatarr

80) EIG 202030 X0F (araalensy?
(8) DS, T B, £300;63° 35 Ma3 FObs
(b) D33, Fer B3, Fo* €0 B a3 Fobse
(€) DY, Fer* /I, Fo* 63> B Na3S, Fobs
(d) SO IR e9e).

81) SAF ©0B3exy?
(a) FPT,T 922 FFOI®F (Supply Application Form)
(b) RRLAE €928F 30aIF (Stores Application Form)
(c) BRT,T NONT Foars (Supply Advanced Form)
(d) WO BOTF 923F Fadre (Stocking Application Form)

82)EOG B[0* 500, 08 M5 Rw@das 230;£300D e3Pl L aH3,
mai)tﬁ,sF Qi]@@ab?

(a) 8V 290 AH (b) 24V 290 AH (c) 24V 450 AH (d) 8V 450 AH
83) EOG 23230° 300TE), &), ORI 2350532

(@1 (b)2 (c) 4 (d)3
84) 22530° A, T wWBNRDNS -

(a) DDCB Fa3e) T3 OBI;FINY, &WRTAEN (To meet unforeseen requirements)
(b) B30 WYTTTOR BEORF, PT4R (To supply items to other users)
(c) T¥,3S, BRNRBIITAI0T V0ésoryas TRVIADN, IOTTE)

(To make good shortfall due to theft, deterioration)
(d) A, FTOE BRTNS 0é3onw=, BeODTeN (To have items out of stock)

85) VED d3(REBOD), "V" 03863072
(a) BDELT 20é3oreh (Vague items)
(b) B DoewBRER, 0E30MeH (Very costly items)
(c) e &0é30 (Vital item)
(d) T3 e2é30rieh (Variety of items)

86) Qa3;0TF°IE), &PT BRWS DT 32
(2) 22539239.0 RBCOTED / PoTe* FeEOBEODE), etk sorEen
(for posting in liability register / fund register)
(b) AT B TT LPTIDADT, IPoDHeN
(for knowing the appropriate approving authority)
() BT, FTTON &0a33Mon (for the payment to the supplier)
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(d) (ed) & (23) riy Noadmtesss (combination of (A) & (B))

87) Sheo 3 dDKe N LIT,N earid,ede) 13 £430 00 30D -
(a) a4, 0 430 (Inactive item)

(b) 3,85 0830 (Scrap item)
(c) e, T, & b0 (Over stock item)
(d) DIF W5 élo (Emergent stock item)

88) 00030 2 tBFMOmON dobeds Eidetrgor BRODOYS 30 O
FOAheRMI S -

(a) ToeIo; Mo, & 830 (Ordinary Stock Item)
(b) 3 o5 0830 (Emergency stock item)
(€) DO 3 0830 (Regular item)

(d) "onymeder s e630 (Non- stock item)

89) A, 0 s9é30neh oE3 €3 ART* Rédoneh, 930 mp, 5
(a) ?ﬁcmcﬁ@cﬂaaq (is unserviceable)
(b) 3 8onPNO3 BYoh (more than 3 months old)
(c) YT 12 80n¥Ye), cdaycie WYT00R RBeDNE), (has not been issued to
any user for past 12 months)

(d) SO 24 Sony ©n8;8,038 &BeF,N3 (is more than the requirement of next 24
months)

90) Byen¥e) 2308 LJIPRALH 3Tnédye3 Fedhade) I3 OSeadzs)H?

(a) TRF Y 2308 DORET SRVLNY 2092
(Use of fire-retardant materials in coaches)

(b) Bt B3 oY wyEnE (Installation of smoke detectors)

(c) ByoIoe33ON BBJITD SANTRD, ONRN oz AR
(Allowing passengers to carry flammable materials)

(d) JT53° FFINY D03 WD
(Regular maintenance of electrical equipment)

91) B,nTe), e383,00a300,635 By0° BEFY* 0w ey AR (AFDAS)
BARKC TR WAV
(2) TyOIWEIT ADTT5E 328, 3 (Increase passenger capacity)
(b) 2308 OTPBAT, 23013 TS 23, VAR OFATR TN
(Detect and alert about fire incidents early)
(c) Bgen FOOIRE 2FTBWODR, SRR LRZHH (Speed up train operations)
(d) Jzgeninede), I, DT, TR SRRBIH T
(Reduce noise levels in compartments)

92) Byeun¥e), esroricAdomen Koy ODTPRNYD, TR s0@en [SUWOIVE. T )
ATIOD T 2BI)?

(@) AC BpteF*nv'e), a3 LPG ADOTBONT., (SWWE EATR Tl
(Allowing LPG cylinders in AC coaches only)

(b) Oyenrive), 303 2,830 weFabR, BRI
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(Prohibiting the use of open Mames in tradn)
(c) @At eardyrt DtBARYRL, LN hEde
(Providing separate cooking compartments)
(d) SO U, &,0h88 KAV, MK et s
(Encouraging passengers to carry personal stoves)

M AC DA, DC IRADONY Srdradis BP0 d &3, B0, %It 0y7
(a) AC Rtdsn0'rv) Goserath TFER W), VLB, 1038 DC Sathnory,
R0 Yoo maIrh, WYRDHIS

(b) DC Bptésoorries AC Spténonenos B, N3

(©) AC Batésnonva, xes, O IV, wvReRrbId, eacid DC
detéeo v, BRA, 9 FEBTNVE), werenrHIc

(d) DC Batésoorieh 2acesnryss ST, TDODF ATFOREN TG ede).

94) DC RtE30* R, Tatn,élesioes FoODF a363?
(2) T203¢ah 7 55 ev3o BFeN (To generate magnetic flux)
(b) AC oD, DC 1 DS I Rer (To convert AC to DC)
(€) 8IS, WD ALANVENIS VOIEn ) 1oL 7 TS
(To reverse the direction of current in the armature)
(d) BRCET*S Sertadsh, TR sdEen (To reduce the motor’s speed)

95) BICEITIE), 38,830 e 3a3endy?
(a) TTCEIT* eady, 035008 FeI0N @WTOLRED
(To start the generator mechanically)
(b) ©N3sz0n Fo0dtodh B, wrnRen
(To provide the necessary magnetic field)
(¢) 2VTEIT F3eriadndd, AabhogRex (To control the generator's speed)
(d) 2TITCEI0* 3BT, oTmoNAeN (To cool the generator components)

96) ALFNODHTRE), Ob0e3 FOFT=, VDT Feio® OFH ¢RI 32
(2) €39,05ep0eDE T (Transformer)
(b) ATPsFEF 230TT° (Circuit breaker)
(c) T AE3T° (Capacitor)
(d) BE300° 436 T* (Motor starter)

97) ALFNODT* AR,TIFRE), 80RMESEET* OTTey?
(2) DT ST 9, ITBO0E A (A device that prevents overloads)
(b) O30T Setee BORIANE), AR e O, AOTTE FRIRPDR)
WFRE AL (A switch used to disconnect a circuit under no-load conditions)
() LS. T EBR, TR RIS ARG (A device that steps down voltage

levels)

(d) FeDHES* BT SR CFHBMN ATEI TR (A safety device for thermal
overload protection)

98) 3D We30* HosB0°N OB R O350a)T?
(a) 23;33%,0 23,3 383 (Increased efficiency of the system)
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(b) B23,03 38, S Red (Increased energy losses)
(c) TR JT33° 3065 (Reduced electrical load)
(d) B28,3 Jeeed Loz 00H0Z)ed (Enhanced voltage regulation)

99) T3 353K, SEIE Ba3o* 3,07 O350 T?
(@) 0.5 (b) 0.8 () 0.95 @ 1.0

100) TyDINYS) B3 PTLO® ), ROBJBION AT saeN 0oe3
RAOTTBOH, WFRIIMI 32
(a) A0TR* TOT,O° (Synchronous condenser)
(b) BT -e95° €30, TosE OF (Step-up transformer)
(¢) RBRFES* 23)680° (Circuit breaker)
(d) DC3,e¢0,£3¢ (Rheostat)
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